
Group: LDW 442

Engine: LDW 442   Drawing: S

MOUNTS

POS. CODE DESCRIPTION Qty

  1 6429.411 flywheel side engine mount 1

  2 6429.410 timing side engine mount 1

  3 8636.208 vibration-damping 2

  4 8546.211 bracket 2

  5 8546.212 bracket 2

  6 7555.029 washer diam. 8 2

  7 7555.008 washer diam.10 2

  8 9730.426 screw M 10 X 145 2

  9 9730.048 screw M 10 X 45 4

 10 1770.160 screw M 8 X 16 2

 10 9730.024 screw M 8 X 16 2

 11 9800.137 screw M 8 X 25 4

printed by LOMBARDINI:   11/08/2010  -      1



Engine: LDW 442  Drawing: S

printed by LOMBARDINI:   11/08/2010


